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ACCUPLACER PREP General Information
Elementary Algebra
R —— * About 12 questions
SECTION 3 * Calculator for some problems
. Radicals 9 will pop up on screen when allowed
* Untimed
Vi-Vi=vVi=1
V2-V2=vVa=2 -
! NI P -1 -
Radicals Vii=vTe=4 Doyou
VEVE=yVIE = seethe)
VE-VE=v36=6  Pattern
151-v151 = 151
j- For nonnegative real numbers a and b,
va-vb=vVa-b

Va-va= (Va)*=a
—a-—Ja= (—Ja)? =a
Vo=0
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More Examples
V5.-V5=5
V3:-V12=V36 =6
V27-3=V81 =9
3V2-7V3 = 21V6

Quetient Rule for Radicals

If a and b are nonnegative real numbersand b # 0,

then
a_\/_a and \/_a_\/ﬁ
b Vb Vb \b

3_\/§_N/§ vV50 50
T @ 2z e yeVi0

5 guati/:y afudiceal prtudion

Find the square of each radical expression.

SIMPLIFYING RADICALS
Radicals are considered to be simplified
when there are no “perfect square” factors
left under the radical sign

2 what are
V6 — (VB)° — 6
perfect squares?
2
Va+b—(a+b)— a+b
How to getit. H B =
PERFECT SQUARE See| o | Simplify. 12 e wien s
4 2:2
The result you get 9 3.3 V12 erfect square!)
16 4-4 Re-write—listing the
whenyousquarea 6 s NINE B
36 66 2. \/ﬁ Underline the perfect
4 7.7 factor.
64 8-8 Replace the
81 90 2\/5 underlined part with
100 1010 B its value.
|
220 diodd Notice that you don’t need
144 12-12 a dot—multiplication is
169 13-13 implied when the terms are

smushed ©




Simplify. /32
Break 32 into two

factors: a perfect square 16\@
and a “leftover”.

Re-write—listing the 4\/5
perfect factor first.
Underline the perfect
factor.
Replace the underlined
part with its value.

Let's take a Ls oK

But what i
1 didn't pick the
largest perfect

Simplify. J32

Let’s say you chose to
use 4 x 8 (since 4 is a ﬂ\@
perfect square)
Notice: the 8 under the 2\/§
radical still has a perfect 2\/1\/5

square factor (another 4)

Just do to process again. 22 / 2
Finally, multiply the two
numbers that are in front 4\/ 2

of the radical sign.

Thisis the same g8
result we got before! %

Simplify. Simplify term Any perfect
53 by term. square factors of || 25X 3
\T15X°y°z 22
X8 is perfect because the
exponent is even.

/. [76 [\2 [
15\/5 —X —y y vz So we don’t break it up.
y? is not perfect because
the exponent is odd.
Break it into a perfect
and a leftover.
z cannot be broken down.

Underline Simplify Re-write the “leftovers,” i o
the perfect | |yoco terms. | | KeePing them under the =~

terms radical sign.

Howwouldlyoudojthin?
Perform the indicated operation.
3x+7x 6y — 11y
10x -5y

This same process
works when we have

*like radical terms

Perform the indicated operation.

5V2+ 42 —> 92
—8V5-9V5 — —17V5

VX +8Jx — 9x

—V6+7V5 — can't be simplified

Y/

each term to see if
,\v? ) they are “like”
5 V27 +V12

VoV3 +V4V3
3v3+2V3

5v3




RESOURCES:

Go to your nearest Academic Services Lab
and you can get a packet of practice
problems. You can also work with an
instructor!

ONLINE RESOURCES:

http://www.purplemath.com,
“Accuplacer Math” can be found on the right side of the screen

http://accuplacerpractice.collegeboard.or
need to create an account but appears to be free
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http://www.purplemath.com/
http://www.purplemath.com/
http://www.testpreppractice.net/COMPASS/Default.aspx
http://noreply.collegeboard.org/148f01bb1layeousiarrdcoyaaaaaaaaaaaaauxlbmjkqaaasgld3yaae
http://noreply.collegeboard.org/148f01bb1layeousiarrdcoyaaaaaaaaaaaaauxlbmjkqaaasgld3yaae
http://www.purplemath.com/
http://noreply.collegeboard.org/148f01bb1layeousiarrdcoyaaaaaaaaaaaaauxlbmjkqaaasgld3yaae

